3 PLURALS: REGULAR AND IRREGULAR

1. Une los singulares con los plurales. Luego
escribe las dos palabras juntas. (La primera

palabra es el singular, la segunda el plural)
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box, boxes

child, children
pen, pens

person, people
baby, babies
tomato, tomatoes
foot, feet

2. Completa las palabras.
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tomatoes
feet
pens
children
babies
mice
boxes

3. Escribe los plurales.
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people
pens
feet
boxes
children
babies

mice

1 THERE IS/ THERE ARE: AFFIRMATIVE

1. Une las dos partes de las frases. Luego

escribelas.

AN

There is a chair.

There are two beds.
There is a box.

There are two computers.
There are five cups.
There is a dog.

2. Mira el dibujo. Luego indica la respuesta

correcta.

alamp
three cups
four dogs
a chair

a box

A S o

two glasses

3. Indica la respuesta correcta.

1. is
2. are
3. are
4. is
5. are
6. is

4. Completa el texto con las palabras del

recuadro.
1. is
2. is
3. are
4, are
5. is
6. are

3 THERE IS / THERE ARE: NEGATIVE

1. Une las dos partes de las frases. Luego

escribelas.

There isn’t a waiter.
There aren’t five boys.
There isn’t a cup.

There aren’t two girls.
There aren’t two photos.
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There isn’t a chair.



2. Completa las frases con isn’to aren’t.

isn’t
aren’t
isn’t
aren’t
isn’t
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aren’t

3. Mira el dibujo. Luego indica la respuesta
correcta.

1. isn’t
2. aren’t
3. aren't
4. isn’t
5. isn’t
6. aren’t

8 THERE IS / THERE ARE:
AFFIRMATIVE, NEGATIVE AND
QUESTIONS

1. Escribe las frases en forma afirmativa (Vv),
negativa (X) o como pregunta (?).

There’s a bike.

There aren’t two schools.

Is there a car?

There are five shops.

There isn’t a museum.

Are there a lot of trees?

Are there two supermarkets?
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There isn’t a school.

2. Completa las preguntas y las respuestas.
Usa la forma correcta de there is o there are
y las palabras entre paréntesis.

1. Arethere two bikes? Yes, there are two
bikes.

2. Isthere a supermarket? Yes, there is a
supermarket.

3. Are there three cafés? No, there aren’t
three cafés.

Are there lots of buildings? Yes, there are
lots of buildings.

Is there a park? No, there isn’t a park.
Are there three buses? No, there aren’t
three buses.

NATIONALITIES WITH BE.
VOCABULARY

1. Indica la respuesta correcta.
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British
Russian
American.
South African
Australian
Spanish

2. Escribe bien las frases.
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They’re American.
He's Mexican.

I’'m Guatemalan.
You’re Brazilian.
She’s South African
It's Japanese.

He's British.

We’re Australian.

3. Escribe las frases.

2. She’s Guatemalan.

3. She’s South African.

4. She’s American.

5. He’s Russian.
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. She’s Japanese.

. She’s Brazilian.

8. He’s British.

9. He’s Mexican.

10. He’s Australian.



